Manuals+ — User Manuals Simplified.

SMXC045 Cassette Tower CPU User Manual

Home » SMX » SMXC045 Cassette Tower CPU User Manual -

5

SMXC045 Cassette
User manual



https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/smx
https://manuals.plus/smx/smxc045-cassette-tower-cpu-manual.pdf

Contents

1 SMXC045 Cassette Tower

CPU

2 Included Accessories.

3 How to use the product.

4 Specification.

5 Warranty & Support

6 Documents / Resources
6.1 References

SMXCO045 Cassette Tower CPU

1.1 Safety Information.

« Avoid direct contact of the device with water and other liquids.

« Do not use the appliance in an environment with high humidity.

« Keep the device out of the reach of children. They may swallow some elements.
« Use the appliance only in accordance with the user manual.

« If the device stops working properly — contact us.

0O OOoooooooooooooo od
Doooocooooonnooooon
000d _ooooooood ooog
ooogoocooo oooooo

00000000000000000C
ooogoc DODD0 0d0Adlc
JLILILU_ 0000000

oooooo

dooodooooooogaoood
JUU gooog ooodd _oog
ooogoooooooooooooog
JUDEECC]D]JUDELCCDJ
o0 ooooog
JDDECCCJJJDDDDECCuJ
ooooooooonoooooooog
ooogooood ooooooooo
7ﬂﬂﬁﬁﬁﬁjﬂﬂﬁﬂﬂﬂﬂﬁﬁﬂ;

10000000
UULULL”'
00000

0o 00000000000
oo oooOo00ooo ooo
000000000000000000
Ooooooooo0oooooo o
T |
L -

1.2 Package contents.

« Case
« Manual
« Mounting kit

Included Accessories.


https://manuals.plus/#smxc045_cassette_tower_cpu
https://manuals.plus/#included_accessories
https://manuals.plus/#how_to_use_the_product
https://manuals.plus/#specification
https://manuals.plus/#warranty_support
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Item Name Use
W (1)Screw M3 5mm x13 Motheiboaid/SSD

PCIE Power

ﬂm (2)Screw 6-32 6mm x5 Supply/Expansion Caid
s

H (3)Screw 6-32 6.5mm x2 Fl\)/ilrcitherboard mounting

w (4)Screw 6-32 5mm x4 HDD 3.5"
E — Cable ties Cable management

Spare plastic latch

For Glass Panel

O

@
ey

=

Rubber washer

To the graphics card br
acket

How to use the product.

1.5 Panel I/0.

REMARK! Before connecting the wires, refer to the motherboard manual.

H.D.D LED

D:0oo=m e
Ll

1.6 Disassembling the panels.
Glass panel: Bend the panel at a 15° angle, then lift them up.
Side Panel: Using the toolless screws (A), unscrew the panel, then slide the panel.
Front panel: Grasp the panel from underneath (B), then pull it towards you with a firm motion.

+P LED

-P LED

o

| Power sw

”%u
USB3D

USB 3.0
USB 3.0

[ ———— HD Audio

RESET
Power




1.7 Assembling the Power Supply.
Using the screws (2), screw the power supply to the chassis. Make sure the power supply is facing the fan down
the case.

1.8 Assembling the Motherboard.

Remark! Before mounting, please refer to the motherboard manual.

The case supports motherboard standards: ITX, mATX, E-ATX and ATX.

To mount the motherboard, use the screws (1). Adjust the mounting pins (3) to the size of your motherboard.

© Dmomo . © I ©
;jgnp] :]I = o‘I—l.é I"|Il‘_1° | 1u:!:§¢
I _ﬂ]_ﬂ] |
¢ ; © il
— 8 a0
) _ U Jall) (A
= =)
1 1]

1.9 Fan Installation and Connection.

Three 140mm fans are pre-installed on the front of the case. You can swap them out for three 120mm fans. To
remove the front fans, remove the front panel.

One 140mm fan is mounted on the back of the case.

You can install two 120mm/140mm fans on the top of the case.



1.10 Removing the dust filters.

At the top of the case and at the bottom you will find dust filters. The filters are mounted on magnetic strips. Gently
prying them open will allow them to be dismantled.
Remark! The front dust filter is integrated into the panel. It is not possible to disassemble the filter yourself.

1.11 Mounting SSDs.
Disassemble the side panel of the case. The disk frame is mounted on the bottom of the case with tool-free
screws. Unscrew the bezel, and then screw the disc to the bezel. Use the screws marked with the number 1.

1.12 Mounting HDDs.

Unscrew the disk frame. Then use the screws (4) to secure the HDD. You can install a maximum of two HDDs in
the frame.

1.13 Mounting the Graphics Card.



Unscrew the rear panel grilles (A). Next, remove the caps of the PCle expansion cards. Use the screws (2) to
mount the graphics card.

You can use the factory graphics card bracket. Using screws, adjust the mounting height of the bracket. Pay close
attention to ensure that the bracket does not interfere with the graphics card fan.

Remark! Remove as many PCle port covers as your graphics card requires.

o e m——

1.14 Installation of All in One water cooling recommended.

You can install an All in One water cooling system in the case. We recommend the installation of radiators of the
following sizes:

Front: 240 / 280 / 360 mm. Top: 240 /280 / 360 mm.

Remark! Before installing the water cooler, please refer to the enclosed instructions. When mounting the water
cooler on the front of the case, make sure that the cooler will not interfere with the graphics card bracket.

 —

Specification.



Side panel Tempered Glass

Backlight None
Mini-ITX
Motherboard Standard XITK;:O'ATX
E-ATX
Internal Drive Spaces 1x 3.5”, 1x 2.5”
Expansion card slots 7
Maksymalna diugo$¢ kaity giaficznej 340 mm
Maximum CPU Cooler Height 185 mm
Maximum number of fans 6

Front: 3x 120 mm, 3x 140 mm fop: 2x 120 mm, 2x 140 mm

Fan mounting options Rear: 1x 120 mm, 1x 140 mm

Top: 240mm, 280mm

Watei Cooling Mounting Options Front: 240mm, 280mm, 360mm

Number of Fans Installed 4
Power
Buttons Reset

Connector Leads 2x USB 3.0 socket

Audio jack
Colour Black
Height 436 mm
Width 230 mm
Depth 360 mm
Scales 5,5 kg

Warranty & Support

Your product comes with a 24-month manufacturer's warranty. For more information, visit the
www.silvermonkey.com/support website.

If you would like support on how to use the product, please contact us at kontakt@silvermonkey.com.

Producer:

Silver Monkey sp. z 0.0.

Twarda 18 00-105 Warsaw Poland

v. 1/27.05.2024

Environmental & Compliance

C€ As the manufacturer of this equipment, we declare that it meets the requirements of the relevant European
Union directives. If you need a copy of the declaration of conformity — please contact us.

E Do not dispose of this equipment with other waste. The materials from which the equipment is made can have
a bad impact on the environment and human health if the product is disposed of improperly. Hand over used
equipment to an appropriate e-waste

collection point.


http://www.silvermonkey.com/support
mailto:kontakt@silvermonkey.com

Documents / Resources

SMX SMXC045 Cassette Tower CPU [pdf] User Manual
SMXC045 Cassette Tower CPU, SMXC045, Cassette Tower CPU, Tower CPU, CPU

References

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/2406aed80de6c0f4308aec1a73a7ff0c9175b838024153760cb520958d3f730f
https://manuals.plus/m/2406aed80de6c0f4308aec1a73a7ff0c9175b838024153760cb520958d3f730f_optim.pdf
https://manual.tools/?p=13406016#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	SMXC045 Cassette Tower CPU User Manual
	SMXC045 Cassette Tower CPU
	Included Accessories.
	How to use the product.
	Specification.
	Warranty & Support
	Documents / Resources
	References



